Single Step Methods

Yn+1 — Yn + hf(tn, yn)
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f(tn + ann + 531)
yn + hso

tn + h

f(tnayn)
f(tn + h,yn + hsy)

s1 + s
yn + R B 2
tn + h
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Classical Runge-Kutta

S$1 — f(tnayn% h

§2 = f(tn+aayn+531)
h h

s3 = f(tn+ 57 yn + 552)

sa = f(tn+ h,yn + hsz)
h
yn + 6(81 + 250 + 253 + s4)
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k
Ynt1l = Yn+h D vis;
1=1
k
en—l—l — h Z 52'87;
1=1
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The BS23 algorithm

§1 — f(tnayn)
h h
§2 — f(tn‘l‘aayn‘l‘isl)
3 3
§3 — f(tn + Zha Yn + ZhSQ)

h
Yntl = Yn+ 5(281 + 350 + 4s3)
ftn41Yn+1)
h
Epdtl = 5(—581 + 655> + 8s3 — 9s4)

W
N
|

14



yny

ynr

tn tn+h

s3

s2

tn tn+3*h/4

ynr

ynply

ynr

tn

tn+h/2

s4

tn+h
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